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y-int (0, 2 /,J Ay :% X+1
B) x-int (-3, 0)
y-int (0, 2) A B)y=4x+1
C) x-int (2, 0) ~ 7 1] C)y= dx+1
y-int (0, 3)
D) x-_int (2,0) D)y=-4x-1
y-int (0, -3) N ¥
3. Which is true about the given line? 4. What is the equation of the given graph?
R 7 ) r'y A)y=-2x-3
\\I B) y= —% X+3
iy l\‘ ' C) y=2x-3
o ) % i - | 7 1
\ D)y= 5X- 3
h 4 4(
A) lts slope is -3 and goes through (2, 5). = 1

B) Itsslope is -1/3 and goes through (2, -5).
C) Its slope is -3 and goes through (2, -5).
D) Its slope is -1/3 and goes through (-5,2).

. . 1 6. Find the slope of the given points (3, 4) and (7, -4).
5. Which equation has a slope of 4 and a

y-intercept of 3? A) _1
2
1 _ _1
A)Zx+3y—l B)y—4x+3 B) 2
1= - 1
C) ~x=y+3 D)y=3x+ C) -2
4 4
D) 0

7. Which of the following best presents the graph of a line with a slope of — % and a y-intercept of -1?

A) B) [HN ¢ PN D)

p 4
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A) x-intercept (0, -3), y-intercept (5, 0)
B) x-intercept (-3, 0), y-intercept (0, 5)
C) x-intercept (0, 5), y-intercept (-3, 0)
D) x-intercept (5, 0), y-intercept (0, -3)

9. Graph a line with a slope of 2 and goes
through the point (-1, 3).

B) Slope:—% andy=1

D) Slope =2and y-int=1

A) Slope=-2and y-int=1

C) Slope=1andy-int=-2

10. Given 8x + 4y = 4, identify the slope and y-intercept.

11. What is the slope of the given points (0, -1)
and (-2, -4)?

A) -

WIN N W

B) -
2
c) 2

3
D)E

12. Graph the equationy = _2 X.

5

Y

A) -1
B) 1
C) 0
D) 3

14. What is the slope of the given graph?

-

13. Which graph represents the x & y-intercepts for 2y = 8 — 8x?

A)

C)

/‘\ B) )
\ ]/
Y- _ :
‘ !
3 D) 3
*\:‘a_
459’ - *‘a.'?
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A) x=-3
B) x=3
C)y=- -
c) 14 D) y=-3x 2 2]
10 E) y=3
B -
10
D) 4 ¥
17. Which are the x and y-intercepts for the given 18. Graph the equation using its slope and y-intercept.
linear equation? 3V = -6+ x
4x=y+8 y=
3
-+ -
A) x-intercept (-2, 0), y-intercept (0, 8)
B) x-intercept (2, 0), y-intercept (0, -8)
C) x-intercept (-2, 0), y-intercept (0, -8) ¥
D) x-intercept (2, 0), y-intercept (0, 8) '
19. Which graph has the slope = —% ?
A) 3 B) C) 3 D) k
o v - JJr v s [ v - L]

20. Graph a line with an undefined slope and goes | 21. Graph the equationy = -x + 3.
through the point (2, -4).
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A) x-int (-9, 0) & y-int (0, 6)
B) x-int (9, 0) & y-int (0, 6)
C) x-int (-4, 0) & y-int (0, 6)
D) x-int (4, 0) & y-int (0, 6)

23. Which is true about the given line?

F Y
/
t’
B, /)7 e
HD 4
Y

A) lts slope is 3/2 and goes through (-1, -1).
B) Its slope is 2/3 and goes through (1, 4).
C) Its slope is 3/2 and goes through (-3, -2).
D) Its slope is 2/3 and goes through (2,-4).

24. What is the slope and y-intercept of the given equation

3x -5y =-15?

25. Determine the slope for (10, -2) and (1, 1).

26. Which graph matches the equation y = -4x?

A) yy B) yy C) yy D) yy
— <G i \‘
]/ \
. TE >r
- v - & ] - | v [ - L 2

27. Which graph has the same slope and y-intercept as equation 2x =y — 1.

A) B) C) D)
Fy Fy ﬂ Fy ﬂ Fy
i
£
¥
e h 4 = % h 4 FJ h 4 P h 4
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intercept form: -8x=2-2
A) x-int (3, 0) [ A P Y
y-int (0, 2) o A) y :% X+ 1
: | /|
P @x +1
C) x-int (2, 0) B " | O)y=-4x+1
y-int (0, 3) D)y=-4x-1
D) x-int (2, 0)
y-int (0, -3) ¥

2. Which is the following equation rewritten in slope-

>

3. Which is true about the given line?

Nrs

-

L J

A) Its slope is -3 and goes through (2, 5).
B) Itsslope is -1/3 and goes through (2, -5).

<) Its slope is -3 and goes through (2, 3>

D) Its slope Is -173 and goes through (-5,2).

4. What is the equation of the given graph?

F'y

A)y=-2x-3

B) y:—lx+3

2

C) y=2x-3

2=

5. Which equation has a slope of 1anda
y-intercept of 3? 4

) G x+3y=1

C) ;x=y+3  D)y=3x+,

4

1
A) =5

B) 2

©D

D) 0

6. Find the slope of the given points (3, 4) and (7, -4).

p 4

N

7. Which of the following best presents the graph of a line with a slope of —

% and a y-intercept of -1?

D)

x
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x-intercept (5, 0), y-intercept (0, -3

A) x-intercept (0, -3), y-intercept (5, 0)
B) x-intercept (-3, 0), y-intercept (0, 5)

t (-3, 0)

9. Graph a line with a slope of 2 and goes
through the point (-1, 3).

7
£

/

475

[ v

C) Slope=1andy-int=-2

D) Slope =2and y-int=1

10. Given 8x + 4y = 4, identify the slope and y-intercept.

<@pe =-2 and y-int =1 >
B) Slope = —% andy=1

(

11. What is the slope of the given points (0, -1)
and (-2, -4)?

A) -

B) -

WIN N W

2
C) £
) 3

3
D)E

12. Graph the equationy = —% X.

=t

Y

A) -1

0
D) 3

14. What is the slope of the given graph?

-

13. Which graph represents the x & y-intercepts for 2y = 8 — 8x?

A)

C)

x B) I
\* 71
\ - - 71 .
3 D) .
_<\§E-
u =2 < *“ﬁ-e’
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17. Which are the x and y-intercepts for the given 18. Graph the equation using its slope and y-intercept.
linear equation? 3v = -6+ X
4x=y+38 y=
y=1/3x-2
3
=>r
-+ MLy
Ay
A) x-inter 0 -
B
C) x-intercep +
D) x-intercept (2, 0) y-mtercept (O, 8)
19. Which graph has the slope = —% ?
’_\
(= ¥ B) C) ) D) N
N l
a L 2 - JJr L 2 | L] - L]
20. Graph a line with an undefined slope and goes | 21. Graph the equationy = -x + 3.
through the point (2, -4).
Y ’/\‘ %‘. Fy
4 5 4 \\_g-l'-
\;,
- v - v
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A) lts slope is 3/2 and goes through (-1, -1).
B) | i

D) x-int (4, 0) & y-int (0, 6) Its slope is 3/2 and goes through (-3, -2
D) Its slope 1sZ73and goes through (2,-4).

24. What is the slope and y-intercept of the given equation 25. Determine the slope for (10, -2) and (1, 1).
3X -5y =-15?

-1/3
Slope = 3/5
Y-int: 3
26. Which graph matches the equation y = -4x?
A . B) . 0 . (DA
— & i \‘
/ \
. T€ >

o v - &l - | v | - v
27. Which graph has the same slope and y-intercept as equation 2x =y — 1.
A) B) C) D)

Y Y ﬂ Y ﬂ Y
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